_____  1.
On January 1, 2007, Mann Company borrows $2,000,000 from National Bank at 11% annual interest. In addition, Mann is required to keep a compensatory balance of $200,000 on deposit at National Bank which will earn interest at 5%. The effective interest that Mann pays on its $2,000,000 loan is

a.
10.0%.

b.
11.0%.

c.
11.5%.

d.
11.6%.

____
2.
Hamilton Company has cash in bank of $10,000, restricted cash in a separate account of $3,000, and a bank overdraft in an account at another bank of $1,000. Hamilton should report cash of

a.
$9,000.

b.
$10,000.

c.
$12,000.

d.
$13,000.


____  3.
Horvath Company has the following items at year-end:

Cash in bank
$20,000

Petty cash
300

Short-term paper with maturity of 2 months
5,500

Postdated checks
1,400

Horvath should report cash and cash equivalents of

a.
$20,000.

b.
$20,300.

c.
$25,800.

d.
$27,200.

____  4. TJones Manufacturing Company has the following account balances at year end:

Office supplies
$  4,000

Raw materials
27,000

Work-in-process
59,000

Finished goods
72,000

Prepaid insurance
6,000

What amount should T. Jones report as inventories in its balance sheet?

a.
$72,000. 

b.
$76,000.

c.
$158,000.

d.
$162,000.


____  5. J. Smith Manufacturing Company has the following account balances at year end:

Office supplies
$  4,000

Raw materials
27,000

Work-in-process
59,000

Finished goods
92,000

Prepaid insurance
6,000

What amount should J Smith report as inventories in its balance sheet?

a.
$92,000. 

b.
$96,000.

c.
$178,000.

d.
$182,000.

____  
6.
On January 2, 2007, Quick Delivery Company traded in an old delivery truck for a newer model. The exchange lacked commercial substance. Data relative to the old and new trucks follow:

Old Truck
Original cost
$24,000

Accumulated depreciation as of January 2, 2007
16,000

Average published retail value
7,000

New Truck
List price
$40,000

Cash price without trade-in
36,000

Cash paid with trade-in
30,000

What should be the cost of the new truck for financial accounting purposes?

a.
$30,000.

b.
$36,000.

c.
$38,000.

d.
$40,000.

____  7. On December 1, 2007, Fiene Company acquired a new delivery truck in exchange for an old delivery truck that it had acquired in 2004. The old truck was purchased for $35,000 and had a book value of $13,300. On the date of the exchange, the old truck had a market value of $14,000. In addition, Fiene paid $45,500 cash for the new truck, which had a list price of $63,000. The exchange lacked commercial sunstance. At what amount should Fiene record the new truck for financial accounting purposes?

a.
$45,500.

b.
$58,800.

c.
$59,500.

d.
$63,000.


____  8. Harrison Company purchased a depreciable asset for $100,000. The estimated salvage value is $10,000, and the estimated useful life is 10 years. The straight-line method will be used for depreciation. What is the depreciation base of this asset?

a.
$9,000

b.
$10,000

c.
$90,000

d.
$100,000

____
9. Pine Company purchased a depreciable asset for $360,000. The estimated salvage value is $24,000, and the estimated useful life is 8 years. The double-declining balance method will be used for depreciation. What is the depreciation expense for the second year on this asset?

a.
$42,000

b.
$63,000

c.
$67,500

d.
$90,000


____   10.
An example of an item which is not a liability is

a.
dividends payable in stock.

b.
advances from customers on contracts.

c.
accrued estimated warranty costs.

d.
the portion of long-term debt due within one year.

____   11.
The covenants and other terms of the agreement between the issuer of bonds and the lender are set forth in the

a.
bond indenture.

b.
bond debenture.

c.
registered bond.

d.
bond coupon.

12. FIFO and LIFO inventory methods.  

During June, the following changes in inventory item 27 took place:


June   1
Balance
1,400 units @ $24


14
Purchased
800 units @ $36


24
Purchased
700 units @ $30


8
Sold
400 units @ $50


10
Sold
1,000 units @ $40


29
Sold
500 units @ $44

Perpetual inventories are maintained.

Instructions

What is the cost of the ending inventory for item 27 under the following methods?  (Show calculations.)

(a)
FIFO.

(b)
LIFO.
